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Why is this different from winnowing and the wind assists him

Overview

WX 17 72 1 asked why is the case of X1°27 (regarding the flax) different from
winnowing, where we say that he is 21 on naw, even though the winnowing is
accomplished (only) with the assistance of the wind. m»0in explains the differing
views of X1°27 and X" 72 7 regarding this comparison.
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X929, however, does not consider this a challenge, for he maintains that just as

we do not derive damages from naw regarding payment -
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As @R 29 explained in ©1977 P79 that regarding naw the 790 prohibited a

‘thoughtful act’ -
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However here by damages it is merely a cause, and causing a damage is exempt

from payment. Therefore, X127 maintains, just as we cannot derive payment from the laws of naw -
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Similarly, here too regarding the flax, we cannot derive from naw that he should

be obligated to distance -
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And X''% 92 9» maintains that granted we cannot derive the obligation of
payment from naw (since Ppria X172 is M), however -
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Regarding distancing that it should be considered 17°7>7 >3, we can properly
derive that from N2W since P2 X293 (while it is 709, nevertheless it) is TON.

Summary
X1°27 maintains that just like we cannot derive a 2117 from N2w, we cannot derive

apPnan, while X" 72 7 maintains that while 8273 is indeed 709 but it 1s 70K.

! The x»3 there states that in a case of M7 10271 72°2 (and the fire caused damage), if his fanning is not sufficient to
set the blaze without the assistance of the wind he is 715 from paying. The X3 asked why is this different from 77
ny»on M where he is 2717 WX 27 responded that by naw as long as his intent was fulfilled (he wanted to start a fire);
it is considered nawnn NoXon (even though he may only be considered a ¥»n73) and therefore he is 2.
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Thinking it over

Can we understand that something may be considered :7°%>7 >’ and he is obligated
P11, but nevertheless he is o for the damage he caused, even though it is >
19°7? Alternately how can something be merely a X173 and nevertheless it is )
772!
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